N E A B B 5~ By
B0 L2 OB B R LE [2] % W
AOHEELZL L,

D 3.3 + 8§ = @ 5 + 5.4 =
® 7 + 5.4 = ® 4 + 7.6 =
® 5.9 + 7 = ® 9 + 7.9 =
@ 9 + 3.2 = 9 + 9.3 =
® 6 + 4.7 = ® 6 + 8.2 =
® 4 + 7.3 = ® 9.1 + 6 =
@ 8.8 + 8 = @ 5.3 + 8§ =
9.2 + 7 = 7.6 + 7 =
©® 6.7 + 5 = 6 + 8.1 =
8.6 + 2 = 5 + 5.7 =
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@@ 1 + 9.1

® 8.2 + 4
® 4.1 + 7
@ 7.9 + 5

® 2 + 9.8

® 9 + 9.2

@ 3.9 + 8

® 5.7 + 5

© 6 + 4.1

9 + 8.1

@ 5.1 + 9 =

@ 1 + 9.9 =

@ 8 + 8.9 =

7T + 7.6 =

® 9 + 6.7 =

8 + 6.5 =

@ 7.5 + 9 =

® 6.5 + 6 =

2 + 8.3 =

@ 9.4 + 2 =
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® 5 + 6.3 = @ 3.6 + 9 =
® 3 + 7.7 = ® 6 + 9.3 =
® 8 4+ 8.6 = ® 7.7 + 5 =
@ 44+ 9 = 3.1 + 7 =
® 9 + 2.7 = ® 8 + 7.6 =
® 8.5 + 9 = 6.7 + 6 -
@ 2.9 + 9 = @ 4 + 9.1 =
9.9 + 6 = 2 + 8.4 =
© 5.4 + 5 = 9 + 4.4 =
7T + 3.6 = 3.5 + 9 =
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® 8 + 9.9 = @ 9 + 2.9 -
@ 6 + 9.1 = ® 8.8 + 7 =
® 4 + 6.4 = ® 6.2 + 8§ -
@13+ 9 = @ 4.5 + 9 =
® 9 + 2.5 = ® 9 + 8.8 =
® 7 + 89 = ® 7 + 8.6 =
@ 8 + 9.4 = @ 8 + 2.6 =
® 4 + 8.7 = ® 4.8 + 6 =
© 5 + 8.9 = ® 6.1 + 9 =
© 7 + 9.6 = ® 2 + 9.1 =

Ml :31-40 X—3:4/10



N E

@Y LAY DB SR LE[2]

KOHEELEL L3,

@@ 5 + 6.8

@ 9.1 + 9
® 7.9 + 4
@ 6.8 + 8
® 8.2 + 2
® 9.9 + 2
@ 8.1 + 7
7 + 8.3

© 9 + 5.2

© 8.4 +

3

@ 6 + 6.7 =

@ 3 + 8.2 =

® 4.4 + 8 =

@ 9.3 + 5 =

® 8 + 6.4 =

4 + 7.4 =

® 9.7 + 9 =
5 + 5.1 =
©® 7.8 + 9 =
@ 2.8 + 8 =
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® 4 + 9.9

@ 9.4 + 6

® 8 + 9.6

@ 9 + 6.8

® 5.5 + 8

® 8.2 + 8

@ 7 + 7.8

® 3.2 + 9
@ 4.7 + 9
5 + 5.5

@ 8.6 + 4 =
+ 9.9 =
® 4 + 9.3 =
+ 4.3 =
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® 8 + 5.5 = ® 9.2 + 8 -
@ 9 + 1.2 = ® 8 + 8.5 -
® 7 + 4.1 - ® 6 + 7.8 -
@ 5 + 6.5 = @ 1.6 + 9 =
® 6.3 + 7 = ® 7 + 8.4 =
® 9.6 + 3 = ® 6.6 + 8§ =
@ 7 + 8.1 = @ 9 + 2.1 =
8 + 5.8 = 8 + 3.8 =
® 6 + 8.3 = ® 6.1 + 7 =
© 22+ 8 = 3 + 9.3 =
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@@ 9 + 9.8

@ 5 + 6.2

® 8.7 + 7
@ 3.4 + 9
® 9.8 + 2
® 7.5 + 4
@ 5.8 + 5
8 + 6.9
@ 6.9 + 4
© 4.2 + 7

@ 7 + 5.3 =
@ 5 + 7.2 =
@ 2 + 9.5 =
8 + 4.6 =
® 9 + 9.7 =
o + 7.3 =
@ 6 + 5.3 =
8 + 7.7 =
3 + 8.3 =
5.2 + 7 =

M@ :31-40 X—Y:8/10



N E

@Y LAY DB SR LE[2]

KOHEELEL L3,

® 9.3 + 6 = @ 2 + 9.4 =
® 6 + 4.9 = ® 1.7 + 9 =
® 3.9 + 9 = ® 3.5 + 7 =
@ 9 + 3.9 = 9 4+ 5.3 =
® 7 + 8.8 = ® 6.5 + 8 =
® 8 + 5.7 = 7 4+ 3.7 =
@ 4 + 6.9 = @ 8.3 + 8§ =
9 + 1.3 = 1 + 9.5 =
©® 6.3 + 4 = 79 4+ 7 =
7.8 + 4 = 8.7 + 2 =
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@ 3 + 8.1

@ 5.8 + 6

® 9 + 3.5

@ 6 + 6.2

® 4.5 + 6

® 5.1 + 7

@ 8 + 5.1

® 2.7 + 8

© 3 + 8.4

1 + 9.8

@ 9 + 5.4 =

@ 7.4 + 5 =

@ 8 + 3.2 =

@ 4.7 + 7 =

®» 3 + 7.9 =

® 9.7 + 7 =

W 6 + 9.5 =

® 7.5 + 7 =
©® 8.4 + 7 =
@ 4.6 + 9 =
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